Subject: MATHS 19.07.2020
Class 4
Based on N.C.E.R.T pattern

Revision based on multiplication

1. Multiply the following numbers arranging in
column.

e 453x321
8760x123
6764x100
e 543x645
6789x900

2.455x6700
3.43x5400
4.456x700
5.546x900
6.658x10000

10.54x900

Ex- 658x110000000
=(658x11) 7 zero we have
=(7238) 7 zero
= 72380000000



Q. There is an electric wire passed across the road.
There are 20 pigeons sitting on the wire. A hunter
killed a bullet in one fire. How many pigeons are
there left on the wire?

Q. One coach has capacity of 80 seats in a train. It
has 43 coaches. How many passengers are total in
a train when half of the seats are vacant.

Q. Find the cost of 35 umbrella if one umbrella
costs 548 ruppes.
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